#### **BID PROPOSAL FORM**

ltem	Description	Est. Qty.	Unit	Unit Price	Total Net Price (Qty. x Unit Price	)
5B	Remove & Replace 7" Portland Cement (Class MS) Per Plan	2,750	S.Y.	\$ 68.75	\$ 189862,50	
	Remove & Replace 24" Combination Curb	1,800	L.F.	\$ 320.31.00	\$ 55800	
	Remove & Replace 30" Combination Curb	500	L.F.	\$ 33.75	\$ /6875	
	Remove & Replace 4" Sidewalk	650	S.F.	\$ 5.00	\$ 3250	
	Remove & Replace 6" Sidewalk/ Drive Approach	1,750	S.F.	\$ \$300	\$ 12250	
	Remove & Replace Unsuitable Sub-Grade as Directed	100	C.Y.	\$55.00	\$ 5500	
	Install Vertical Curb – Hand Formed	500	L.F.	\$ 12.00	\$ 6000	
	Install Vertical Curb – Machine Placed	1,000	L.F.	\$ 10.00	\$ 10000	•
	TOTAL FOR ITEM 5B	\$ 298737.50				

# BID PROPOSAL FORM

ANALYSI ALL	Te communicación de company de designado de company de	values or		Alexander (Principal Control Control Control	
ltem	Description	Est. Qty.	Unit	Unit Price	Total Net Price (Qty. x Unit Price)
5B	Remove & Replace 7" Portland Cement (Class MS) Per Plan	2,750	S.Y.	\$96.00	10.000.0L
	Remove & Replace 24" Combination Curb	1,800	L.F.	\$35.00	\$ 1,3,000,0
. 9	Remove & Replace 30" Combination Curb	500	L.F.	\$38,00	\$ 19,000 00
	Remove & Replace 4" Sidewalk	650	S′.F.	\$7.00	\$ 4550.00
,	Remove & Replace 6" Sidewalk/ Drive Approach	1,750	S.F.	\$ 8.00	\$ 14,000.00
- - :	Remove & Replace Unsuitable Sub-Grade as Directed	100	C.Y.	\$30.00	\$ 3000.00
	Install Vertical Curb – Hand Formed	500	L.F.	\$28.00	\$ 14,000,00
`	Install Vertical Curb – Machine Placed	1;000	L.F.	\$15.00	\$ 15,000.00
···	TOTAL FOR ITEM 5B				\$376,050.00
BIDDI	er: ockhartConcrete Ce	) <b>,</b>		19 1	Lorlo
	NAME			AUTHORIZEÓ S	BIGNATURE
	VERY SCHEDULE:  contract has been fully executed, d	lelivery can	be made in	<u> </u>	
ERN	IS OF PAYMENT:				
	net	30 d	aus		
NOTE	•		$\cup$		
detaile	xceptions, commercial or technica ed below. Unless so specified, if ete accordance in every respect w	t is assume	d that the	material or equipm	fically offered listed and ent by the bidder is in
	REMARKS, MODIFICATI	ONS AND I	EXCEPTION	NS TO BE LISTED	BELOW:
	· .	<u> </u>			
	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		a fine of Managaran	and the second s
, sa , sa , sa	<u> </u>			The second secon	

## BID PROPOSAL FORM

Item	Description	Est. Oty	Unit	Unit Price	Total Net Price (Qty. x Unit Price)
5B	Remove & Replace 7" Portland Cement (Class MS) Per Plan	2,750	S.Y.	\$ 10-	\$ 1105000.
	Remove & Replace 24" Combination Curb	1,800	L.F.	\$ 35.7	\$ 43000-
	Remove & Replace 30" Combination Curb	500	L.F.	\$ 40	\$ 2000-
	Remove & Replace 4" Sidewalk	650	s:F.	\$ 8	\$ 5200.
	Remove & Replace 6" Sidewalk/ Drive Approach	1,750	S.F.	\$ 9-	\$ 15750-
	Remove & Replace Unsuitable Sub-Grade as Directed	100	C;Y.	\$ 40-	\$ 6000-
	install Vertical Curb – Hand Formed	500	L.F.	\$ 19-	\$ 9500
	Install Vertical Curb – Machine Placed	1,000	L.F.	\$ 14-	\$ 14000.
an and the standard stand	TOTAL FOR ITEM 5B	- PROSume 1	- C ( - 14 )		* 298,450.

			1070
BIDDER:  Penn Aspho NAME	att Co-	Who lead the second sec	D SIGNATURE
DELIVERY SCHEDULE: After contract has been fully	executed, delivery can be made i	n <u>3ວ</u> da	ys.
TERMS OF PAYMENT:	lays		
NOTE:			
detailed below. Unless so	or technical, to the City's specific specified, it is assumed that the ry respect with the detailed specif	material or equ	ecifically offered listed ar ipment by the bidder is
REMARKS, N	IODIFICATIONS AND EXCEPTION	ONS TO BE LIST	ED BELOW:
grant programme and the second	a seems adaption - Carlo	ادر به در افران <del>مج</del> دیو در به داده از کرد <del>مج</del> دیو	en e
	<u> </u>	name de la companya d	
		·	

Spano Brothers

## BID PROPOSAL FORM

ltem	Description	Est. Qty.	Unit	Unit Price	Total Net Price (Qty. x Unit Price)
5B	Remove & Replace 7" Portland Cement (Class MS) Per Plan	2,750	. S.Y.	\$ 75.65	\$ 208,037.50
	Remove & Replace 24" Combination Curb	1,800	L,F.	\$ 30.50	\$ 54,900.00
	Remove & Replace 30" Combination Curb	500	L,F.	\$ 30,85	\$ 15,425.∞
	Remove & Replace 4" Sidewalk	650	<b>S</b> .F.	\$ 4.80	\$ 3,120,00
• • •	Remove & Replace 6" Sidewalk/ Drive Approach	1,750	S.F.	\$ 5.20	\$ 9,100.00
	Remove & Replace Unsuitable Sub-Grade as Directed	100	C.Y.	\$ 30,00	\$ 3,000.00
	Install Vertical Curb – Hand Formed	500	L.F.	\$ 18.00	\$ 9,000.00
	Install Vertical Curb – Machine Placed	1,000	L.F.	\$ 16,50	\$ 16,500.00
Aggi Şasası (j. 1959) Azərbaycan (j. 1959) Azərbaycan (j. 1959)	TOTAL FOR ITEM 5B				\$ 319,082.50

<u>angaranta</u>		
Spans hathers Consta	ection Co. Tr.	AUTHORIZED SIGNATURE
<u>DELIVERY SCHEDULE</u> : After contract has been fully execu	ted, delivery can be made	in <u>30</u> days.
TERMS OF PAYMENT:	days	
NOTE:	Ü	
Any exceptions, commercial or tedetailed below. Unless so speciomplete accordance in every res	ified, it is assumed that th	cations shall be specifically offered listed and e material or equipment by the bidder is in ifications.
REMARKS, MODIF	ICATIONS AND EXCEPT	ONS TO BE LISTED BELOW:
Same and the same	and the second of the second o	
· · · · · · · · · · · · · · · · · · ·		